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I. Answerall questxons | ' | :
1 is the set of techniques that allows the sxmultaneous transmxssxon of multxple sxgnals '

II.
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across a single data link. .

If the physical links are limited to a pair of nodes it is said to be |
The part of e-mail system which is responsible for manipulating mailboxes is called -
routing a.lgorithxh uses Hello packets to learn about the neighbours.

End to end connectiﬁty is provided frbm host to host in ———-—; layer. |
 CSMA stands for ' Ve

is the connectionless, unreliable transport protocol

is a client server general purpose application program for remote lbgging .
If the physical links are shared by more than two nodes, it is said to be Multlple Access
satellites are positioned between two van Allen belts.
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A combination of encryption and decryptlon algonthms in cryptography is called
TCP Port number 80 is reserved for protoool
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| (12 x 1/4 =3 weightage)
Answer all questions :

13 How does a single bit error differ from burst error ?

14 How is a hub related to a repeater ? | ,

15 Which are the two flow control mechanisms used in d_afa lmk layer ?

16 What are different types of errors ? | Ry "

17 What is meant by Cyclic code ?

18 Whatdoyoumeanbyremdteprdcedurecall_? e
7 E TOERTE IS ST Turn over
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19 WhatisNIC? | | |
20 What is the functionality of POP ?
21 Write short note on IPV4 address'ing.
o X | (9 x 1 = 9 weightage)
I. Answer any five questions : ‘ .
22 Compare Error Detection and Error Correction. °
23 What is NAT ? How can NAT help in address depletion ?
24 Explain CSMA and its uses. Co |
25 What is a mask in IPV4 addressing ? What is the default mask in IPV4 ?
26 What is the need of cryptography,? |
27 Compare flow control and error control m detml
~ 28 Discussthe foﬁr basic topologies in terms of line configuration. ‘
B S B (6 x 2 = 10 weightage)
V. Answer any two questions : 3 : ) | | '
29 Compare IPV4 and IPV6 addressing with the help of neat diagrams.
3O Explain the Bluetooth architecture and applicatibns in detail. -
31 Explain different Routing algorithms. e _ |
| ~ (2 x 4 = 8 weightage)

Scanned by CamScanner



